Algebra 2 Level 1
Summer Packet

e This packet is designed to help you retain the information you
learned in Algebra 1 and realize what skills are essential for you as
you enter Algebra 2.

e This packet will be due Friday September 5% 2014.

e Please show all your work on the packet. If no work is shown, no
credit will be given! Please place all answers on the answer sheet.

e Here are some online resources you can use to help you if you are
having trouble. There are also many others you can find using a

google search.

1. Khan Academy
2. Purple Math
3. Google Math Tools

In preparation for this class, we recommend you arrive on the first day of
class with the following supplies:

e 1%” or2” 3 ring binder

e lLoose leaf paper or notebook

e Dividers for your binder

e Handheld pencil sharpener

e Scientific calculator

e A graphing calculator (TI-84plus) is recommended for students who

plan on taking AP Calculus and/or AP Statistics during high school.

e Pencits
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Datie:

Name:

Algebra 2 Level 1 Summer Packet= This packet is forall students entering Algebra Z (1)

All work must be shown for credit. The packet is due on Friday September 5,2014 All
~newers should be placed onthe answer sheet. All work should be placed on the space

provided.

1. Simplify. .

16 — (49 = 7 - 4+ 10) + 5(9 — 10)?

2. Which property is shown by ti'\e following?‘ (a*b)*c=a*(b*¢)
A) Commutative P.rgperty of Multiplication
B.) Associative Property of Multiplication
C.) Substitution
D) Distributive Property

3. Which property would be used to solve the first step of this equation?

3x—2
e

8

A.)Addition Property of Equality
B.)Subtraction Property- of Equality
C.)Multiplication Property of Equality -

D.)Substitution

4. Solve each proportion.

3v+8 v+6
10 9



For guestions 5-5, solve each eguation.

5. 4-(2n+3)=—(n—3)+7n

6. —1+6n=—1 —5n)—4n

7. " 4(x+6) —(4x+24)=D

*

o —4+5(—7—n)=3n—4(3+2n)
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Qolve each imeguality and graph its solution.

10. 12+6k<5(1 +%)
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11, —7(2b +5)+6>—6b +5(b +2)

N
ettt
V—17 y -IS :4 -3 -2 -l o 1

r

Solve each compound inequality and graph ifs selution.
12, 6+6k>0and Sk—8<37
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14. 8b+9<7b+3<8b-10
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Solve each equation.

15 5 10[8n+5‘ =—45

Solve each inequality and graph ifs solation.

16.
[x—6] <1
e e S S
‘3456

7. l10-5r] +1>26

-7-6-5-—4-3-2-101-23 4567285310

18. 7-8|9%x—6]| <55
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Find the slope of the Iine that goes through the given poiufs.
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G-l; What 1s the appzfi’cnt x-intercept 7
L) What isthe apparent y—intercept?
c) whatis
the slope of the line?

-21)3x+5y=22

a Find the slope of the line.

}:\ Find the y-intexcept
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3x—5y=-10
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y—intercepi

the Iine with the given slopeand

Use the slope-intercept form of the linear equation ip write the equation of

25) Slope-— %; y—intercept 8

en slope.

‘Write the slope-intercept form of the equation of the line through the given point with the giv

26. ﬂnough_ (2, -5), slo =—%_

Jine throngh the given points.

e-intercept form of the equation of the
2. through (2, 4) and (2,-3)

Whrite the slop
47, torongh: (-3, -3) and (3, 1)

Wiite the slope-intercept form of the equation of the line described- _

ey

| 1
29. through: (3, 1), parallelfo y=2x+ 1




. Wiite the clope-intercept form of the equation of th

317  Cynthiz and her father planted a tree m
_ thear Front yard 8 ycars 2g0- The trec was
5 meters in beight when it was planted.
The scattzrplot below shows how the
height of the tree increased cach yrar-

Tree Height Over Time
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Given the fomction, find the indicafed value

a2 Find f(—Z)whenf(x) =7xZ +4x+4

e line that Is perpendicular tp the given fine.

3p.  through (-4, 6] 2nd perpendicatar to 2x +3y =8

Which of the following most closely
approximates the equation of the hne

: of best fit for the data poinis m the
scatterplot?
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Graph the Tmear negualify.
3x+5y=-15

33.

34. Evalnate each function. 35, Sketch the graph of each line.

x=-3

h():) =x’ +lzc2 ; Find h(—l) _
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36.

Anthony plotted the point_ F(i, 5) on a coprdinate grid, as shown below.
- . L y -
Jb

Pt

— KN W b oy ) b 0

I
Lo~ |

-t

i
\*Y)

Y

Anthony then graphed line g on the same coardinate grid.
- Line'g contains point P.
- They-intercept of line g is the point with coordinates (0, 4).

T
a. What is the slope of line g7 Show or explain how you gotf your answer

b. Writc an equation of line g. Show or explain how you got your cquahion

Anthony also graphed line n on the same eoordinate gnd. Tine = contains point P and is
perpendicular to lme g

c. What is the slope of linc n? Show or cxplain how you gof your answer.

‘4 Write an equation of line n. Show or explain how you got your eguation.



